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A SRAMNR=

Hy: AT WS U HOAY A
Sl RS CIFBS X (el &2
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 713 o HRE2
OISR = 876,695 879,789 A3,094
ATE FEES L FOAF A 785,005 786,600 A1,505
2ae o¥3eEs N3 772,965 774,470 A 1,505
ol¥as NF 29l 663,216 668, 139 24,923
205 2| 3/H| 659,786 664,709 24,923
05 2 ¥=2d3S&l 63,477 68,400 N4,923
Ogd=222SELI(EZ) 63,477 68,400 A4,923
-2/ &13¢d 23 57,877,000& 57,877 62,400 A4,523
—HlAZAUSERRAZ 2 & 5,600,000& 5,600 6,000 A 400
NS HRN L 16,329 17,044 AT15
201 et2Ad| 16,329 17,044 AT15
01 A2 2t 2ldl 16,329 17,044 AT15
O3y +8HI(EY)  FH 2,240,008 2,240 2,500 260
Oo® L DSUI(RY)
2 & 8,645,000& 8,645 9,100 A455
ST O IR0 47,680 48,830 A1,150
202 44| 16,150 17,000 A 850
01 =2 LHOA bl 6,650 7,000 A 350
O=3 H2DSE S M OfHI(EY)
23 2,850,000& 2,850 3,000 2150
OoA® 2 AFWBE LB OHI(FY) 3,800 4,000 A200
~ol3BE M2 Y ABLY NRLE S
2 3,800,0002 3,800 4,000 A200
04 =Xl &t i 9,500 10,000 A500
Ooe+8 M@ 2L 0fHI(22)
A 9,500,000%! 9,500 10,000 A500
205 2|3 | 31,250 31,550 A 300
03 =LA bl 5,700 6,000 A 300
O AZEE BL4Y OUI(EAEYR S)
(=) % 55,700,0002! 5,700 6,000 A300
HES 23 &&F =4 28,512 21,432 7,080
201 fEt2Ad| 15,786 18,082 N2,296
01 AtR2tel 8,825 9,685 A 860
OWal, S0l S HEH(ED) 550 800 250
-HEE 2 & 250,000& 250 400 A 150
-H2g A 300,002 300 400 A100
Odz=) Ag8s N=2(22) ZF 510,000 510 720 A210
O=AII, BRIEI BARTIHIS(EZ)
2 & 600,000& 600 1,000 A 400
02 32244 6,961 8,397 N 1,436




A SRAMNR=

M ASS MEBES U FHAY 4E
Cel: 2AE o ¥ EE X (&te: @2
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH pjEsifon Hl =2
OXSFZ(EL) ZE 900,000 900 1,200 A 300
Ool&Al Bo|RtAl IRLAI(LPG) (B )
Z3A 1,500,000 1,500 1,800 2300
Odl . et SXIE4HI(22) ZFA 900,000 900 1,200 A 300
O=23/9/& CCTVItHIZH SN ESH(B)
Z3A 400,000 400 656 A256
OYIZZAEYH SANBHH(H)
23 300,000 300 580 A 280
405 XFAHE SHI 12,726 3,350 9,376
01 XAt 2 EF SH| 12,726 3,350 9,376
ojRlAal THEIE & X 9,700,000 * 14! 9,700 0 9,700
OAFSA! JHHIY DA PRU(E) 3,026 3,350 A324
— S THIMBIH(TH) 23 1,900,000 1,900 2,100 A 200
—STHIMHIL(A) 23 1,126,000 1,126 1,250 124
oA =X BAG 9,900 11,000 A1,100
203 & R=ZIH| 9,900 11,000 A1,100
03 Al =X B =Y 9,900 11,000 A1,100
O3 ey &4dg =& (&2
23 3,600,000 3,600 4,000 A 400
O3 22 45 =R(ED)
Z3A 1,800,000 1,800 2,000 A200
OJEERN2AR A5 =T(BY)
Z& 1,800,000 1,800 2,000 A 200
OF0UT AN A5 =T(BY)
23 1,800,000 1,800 2,000 A 200
OQFHLFXS RF=X(EL)
ZE 900,000 900 1,000 A 100
o3 HEXY S| 7,328 8,025 AB97
201 L2 A 7,328 8,025 AB97
02 22294 7,328 8,025 ABI7
OQEEXNHFXIHI(EZ) ZE 2,755,000 2,755 2,900 A 145
OULEXNZIXIHI(EZ) Z3A 3,515,000 3,515 3,700 A 185
OXNEXA(EZ) 338 465 A127
-9 &2 ZA 273,000 273 400 A127
OXNESHEE2(EY) 560 800 A 240
-od= ZE 200,000 200 300 A 100
-gee 23 360,000 360 500 A 140
HHSAAH| (2 AR R) 91,600 93,189 21,589
Jl=AH| 66,452 68,041 A1,589
Jl=AH| 66,452 68,041 A1,589
201 Lpt2AH| 14,102 14,941 2839
01 AtR2telH 14,102 14,941 A 839
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MM HES2HAH| (ASAIR2)
Cel: J|=2&H] (&te @2
2AH -3 - SH2A(SH) - MEAMY - BHES 0] At oH I & Hns2

OEHZR(EZ) 2,620 2,790 A170
-T2 23 2,530,000 2,530 2,700 A170

OBMEY JIEx=2HI(22)
Z3A 1,688,000 1,688 1,920 AD232

OANZIZ2X SAHI(EZ)
Z3A 5,107,000 5,107 5,376 269
O2FRAAIZASAH(BZY) FHE 3,192,000 3,192 3,360 A 168
203 P2 =ZH| 6,750 7,500 AT750
01 J|22HAR=ZAH 2,970 3,300 A330
O2AAR2H(E) 23 2,970,000 2,970 3,300 A330
04 BEAN2HARFFH 3,780 4,200 A420

O3l AFR=2(15210I5H) (B 2)
23 2,700,000 2,700 3,000 A300

Z2& 1,080,000 1,080 1,200 A120




